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a)

c)

a)
c)

a)
c)

a)
c)

a)
c)

a)
c)

a)

c)

a)
c)

. TSNTE WER Fi vy URIx aRg®R A fewmg farar ur?

Which famous architect designed the city of
Chandigarh?

. BIGRRR Le Corbusier b) v @IS IZE Frank
Lloyd Wright
eI §elg Zaha Hadid ~ d) 3M3.GH. WS I. M. Pei

TShTE 3! fra af g e ye=r et far war ur?

In which year was Chandigarh declared a Union

Territory?

1950 b) 1966

1971 d) 1984

TS H SIF T &7 KR! Frafadl 3R u=mafe
Ya-1 & fere gafta g2

Which sector in Chandigarh is dedicated to
government offices and administrative buildings?

JaeX 17Sector 17 b) ¥deR 22 Sector 22
JdeR 9 Sector 9 d) TdeR 32 Sector 32
TSI & Uig P TS BT 3471 14 82

What is the name of the famous rock garden in
Chandigarh?

IS TS Rose Garden
fiok A
Garden

TEhTe # ®1 Wt 3fta ve Ay a=aeiia srvarvg @2

Which lake in Chandigarh is a designated wildlife
sanctuary?

@1 3 Sukhna Lake  b) € 3itd Dal Lake
Faret Sl Nainital Lake d) @SR A Khajjiar
Lake

fFafafad & ¥ o9 YRd ¥ 359 $1 SRER WA 87

Who among the following is the executive head of

state in India?
U HaAT Prime Minister  b) RT¥URd President

Ffode Ifed  Cabinet d) faa BSICC

Secretary Secretary

YRA § TP 59 F IequTd 1 i 19 wear 82
Who appoints Governor of a state in India?

YRd & UYM HA Prime b) HAl GREE Council of

Minister of India Minister

gid 31K & IRl d) HRA & APU President

Judge of Supreme Court of India

Certiorari' &1 m 3 a1 %’

What is the literal meaning of 'Certiorari'?

b) @ T Sukhna Lake
Pinjore d) =% dg P A TMeT Nek
Chand's Rock Garden

Finance

We command b) To have the body of

To forbid d) To be certified (or) to be
informed

fFafafaa # @ @11, g9R 3 & Y e # A fasdt

o1 Y gew g 37

a)
c)

10.

a)

c)

11.

a)

c)

12.

a)

<)

13.

a)

c)

14.

a)

15.

a)

c)

16.

Who among the following is not a member of any of
the two houses of our country?

T H3l Prime Minister  b) fad #31 Finance Minister

Tl'gl?ﬂ%l President d) ST ¥ P 78T None of

these

HRAHY Afaur™ & & srgede # APia smuraeTa o1
WU 82
Which article of Indian constitution has the provision

for National Emergency?
b) 3FIw5E 352 Article 352

3G 350 Article 350
&Iﬂ@?{ 312 Article 312 d) &Iﬂ@? 280 Article 280

TIHAUT SHeTE T AT U3 ford AR sar g 2
The Speaker of Lok Sabha addresses his letter of
resignation to the -

YRA & Tl'gcﬁ%{ President b) Y™ T3 Prime Minister
of India

AHaHT & SUIHY d) YRd b G AR The
Deputy Speaker of Lok Chief Justice of India

Sabha

oy ¥ ey raTe i v ERT &t

et 3

Subordinate courts in state are supervised

by .

I BIE Supreme Court b) fI@T =M™ District
Court

I ™ High Court  d) THE Parliament

YR AU & G=ed ufkar &) {59 dau=e
T R O foar mar &2

The amendment procedure of the Indian
Constitution has been modelled on the constitutional

pattern of

TI&OT  SBI®T  South b) &HlST Canada

Africa

JUIT USA d) SRS Switzerland

YR & HIUTT BT URT U ---mmmmeoe J Hefua @

Part lll of the Constitution of the India relates to—

Hifers PR b) T Afd F e

Fundamental Rights Rygid Directive
Principles of State Policy

Hifers $dad d) ARG Citizenship

Fundamental Duties

HRA & AU & {5 3rg=de & d8d HRd & Igufa
TR HETERT TR S 6l 82

Under which Article of the Constitution of India can
the President of India be impeached?

3G 61 Article 61 b) Sfgw8< 75 Article 75
3G 76 Article 76 d) 3G 356 Article 356

WTIpfas® Tu- &1 sifd= Rygid --------- TR 3meTia )

Darwin theory of natural selection is based on
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a)

c)

17.

a)

c)

18.

a)

c)

19.

a)
c)

20.

a)

c)

21.

a)
c)

22.

a)
c)

23.

a)
c)

24.

a)

sffagdred b) i@ 3R fiysar & forg

(Overproduction) i Struggle for
existence and variation

T A Siiq fofal @al d) IWigd 9t Al of the

% Survival of the fittest above

A B! §g BT ATHR MNATHR gidl 8 | SHP! Io8 8 :-

A drop of water is spherical in shape. This is due to

gffd @@ Surface b) HH  dUHE
Tension temperature

EITEEI'%?:T?I Air resistance d) UMl @I foufoge

Viscosity of water

Low

An Endoscope is a

Taepiof W Narrow b) FW BT TR Type of

telescope Camera
WA AZPHRGT Simple d) SAANRCH ¢ Diagnostic

Microscope tool

WfEaw eraie fepREIc Fram=gam ___ I

The common name of sodium tetraborate
decahydrateis __ .

TH FH® Epsom salt by fom Gypsum

RS Borax d) T Galena

fora uerd & e @ i &1 3771 e g1 ST 82

Adding which substance gives blue color to glass?

S S b) Plalee AFES Cobalt
Manganese oxide oxide
Hiftrgw MRS d) MERA  SSS  Iron
Chromium oxide oxide

AR T A S B A A AP & g Fg a A
foraeT wanT fopar Sirar &2

What is used to prevent freezing of fuel in space

crafts?
ol Benzene b) TTEHIA Glycol
YRITIE Acetylene d) TR Ester

g’@ﬂm_ﬁumaﬁ?amhﬁawmmm
|

Lymph carries digested and absorbed fat from .
TS Lungs b) 3MTd Intestine
UT Stomach d) ﬂ—c{T Kidney

FaP F AT P {6 A F W} 91 ST § -
The study of Fungi is also known as -

BIECNIE] Cytology b) arrarsit Cytology
BIECANIS] Mycology d) ?Iﬁﬁﬁﬁ Neurology
TS U Ft Wil fhasd g1 &1 7% A7

Blood group was discovered by
NNEE R T b) faferm  ®'d william

Alexander Fleming Harvey

25.

a)

c)

26.

a)

c)

27.

a)

<)

28.

a)
c)

29.

a)

c)

30.

a)

c)

31.

P ASER
Landsteiner
A | HiRT St &1 Yad® $a AT ST 82

Who is considered the promoter of Bhakti Movement
in Bengal?

Karl d) gieid Paulov

Td Chaitanya b) MG Ramananda
q1Hcd Namdev d) XMHTIS Ramanuja

TShTe # Mith Wa &t g1 f&wms fearman
gl

The Gandhi Bhawan in Chandigarh is designed by

?ﬁaﬁ@QLe Corbusier  b) TG BRET Charles

Correa
TR SRAC Pierre d) A GIEICH Achyut
Jeanneret Kanvinde
FrafafEa & & $14 7Tad U & 7 @ 82
Which of the following is incorrectly matched ?
YT IRATY] SHYF HSE - b) W AR digRapier - sy
gltBhabha Atomic UG SHAR  Centre
Research Centre - Sriharikota - Andhra
Trombay Pradesh
TS TENTRIST - d) fashH IRIHTS SfaRel &x
FSNTG  Semi-Conductor - aTIT:RT Vikram Sarabhai
Laboratory — Chandigarh Space Centre -
Bengaluru
RUSS Fe¥c Waid o
The standard internet protocol is :
TCP/IP b) UDP
FTP d) www

g, form aads & oot IwruTit @t =TT $i
Th RMHD YTl
Dantidurga, who set up his capital at Malkhed was a

ruler.
UIdT Pala b) XMPPHC Rashtrakuta
HTddlg- Satavahana d W J8R: Pratihara

fFafafea & @ 19 Rig 91t Tar &1 deumg weR
81 UT?

Which of the following was NOT a port town of the
Indus Valley Civilisation?

REIRERT Khirasara b) IRGNTG! Rakhigrahi
SA®IC Balakot d) T Lothal

TS YIS TR & ARSI & R 5 e 1o
1 TgTed g3 U

Guru Arjan Dev died after being tortured for five
days by the Mughal government led by Emperor
Jahangir on June 16, 1606.

His martyrdom is remembered as Shaheedi Divas of
Guru Arjan.

Guru Arjan Dev is the fifth of the ten Sikh Gurus.

He was the first martyr of the Sikh faith.
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a)

c)

32.

a)
c)

33.

a)

c)

34.

a)

c)

35.

a)
c)

36.

a)
c)

37.

a)
c)

38.

He had compiled the first official edition of the Sikh
scripture called the Adi Granth, which later expanded
into the Guru Granth Sahib.

He was born in 1563 in Goindval, Tarn Taran district,
and was martyred in Lahore.

Jahangir was the fourth Mughal Emperor and ruled
from 1605 till 1627.

T® o §81gX Ri§ Guru b) 7% AH® Rig Guru Nanak
Tegh Bahadur Singh Singh

e 359 3 Guru Arjan d) T® Tfdg RigGuru Arjan

Dev Dev

3T q P9 @I® $ B 71 32

Which of these is NOT a Kharif crop?

g Wheat b) HITHd! Groundnut
YT Paddy d) HIHI Maize
9 f&3h Iat -y ot Ssan &2

9 degree channel joins____.

THYR  dugd @ b) BfRer sk Awdd
e 9 Minicoy to Minicoy and Maldives
mainland Lakshadweep

e 3R FeleR €lu d) cféor sieum iR fafea
Andaman and Nicobar 3{€HM South Andaman
islands and Little Andaman

frafafea & 9 o149 a1 g WRa # fd &1 999 g1
SAGS o7

Which state among the following is the largest
producer of chilli in India?

A US  Madhya b) U ST West Bengal
Pradesh
318 U= Andhra Pradesh  d) ISR Rajasthan

ToRTd | SRV SR 9P BT SIJHIT THT eRTa
(4 ) @1 g2

What is the approximate time lag (in hours) from
Gujarat to Arunachal Pradesh?

1 b) 5
2 d) 5

YR Y & fraq 359 Sarey & 91y g+t Fr
TS B &2

How many states of the Indian Union share their
boundary with Bangladesh?

4 b) 6
5 d) 3

W9 P15 A1 TSt ¥ Fopad! 8 i It fe=msif #
TEA 2, N AR WEU DI HeT AT o

When a river originates from a hill and flows in all
directions, the drainage pattern is knownas _____

GHTPHIAD Dendritic b) WelER Trellis
3R Radial d) 1P Centripetal

YRA RIS T THI@ S FerwErgl

c)

39.

a)

c)

40.

a)
c)

41.

a)
c)

42.

a)
c)

43.

a)

c)

44.

a)

c)

45.

The boundary line between India and China is called

YefFam Y@ Raddliffe by FEF0T @1 Line of

Line Control
U SASHRHE Palk d) HAHHET Y& McMahon
Strait line

fFufafEa § & o149 91 s WRa & ufish ae & any
TS SGE e 82

Which one of the following is not a port along the
Western coast of India?

a1 Udl Nhava Sheva  b) T Murmugao
Wﬁ“—f Tuticorin d) PIfA Kochi

fFrafafaa & /@ £19 gfén WRa #1 a9 S A @2

Which of the following is the highest peak in South

India?
SARYS! Anamudi b) SISIEET Doddabetta
BEEEATID Mahendragiri  d) YUTe Dhupgarh

;ﬂﬁﬁmﬁ%mﬁﬁamwﬁwﬁ‘fm

Where in India is the first indigenously built atomic
power plant located?

dRTYR Tarapur b) HAUFHH Kalpakkam
HIcT Kota d) TId Trombay

IR ga1 S IMF) FTHSTed A fR@ 3|

The headquarters of International Monetary Fund
(IMF) is located at .

a1 Geneva b) & London

U Paris d) aIiRiTed St
Washington D. C.

YRT & YW g7 <A s &2

Who was the first Chief Justice of India?

Uoolfcl  RRel  Patanjali b) 8RATA o HHAT Harilal J
Sastri Kania

W fRemg@e M d) ¥ gEel B K
Hidayatullah Mukherjee

YRA & WY T S-G9 YN VGR!0 &
3re=f Ft o Har 22

Which part of the Constitution of India declares the
ideal of Welfare State ?

IHF DI Afd F GRS b) TA SHUBR Fundamental
dwd Directive Principles Rights
of State Policy

I RIBT Preamble d) Irqdl gl Seventh

Schedule

T8 A DI W UTIT Wiy B radt sy @1 fen
T 8?

Which of the following languages is NOT a part of
the Eighth Schedule of the Constitution?

SR Dogri b) SISl Bodo
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c)

46.

a)
c)

47.

a)
c)

48.

a)
c)

49.

50.

a)
c)

51.

a)

52.

a)

R Persian d) YA Santhal
YRA & Yfaur & 991 arelt |y Iur # fea-t
wfger g 4

How many female members were part of the
Constituent Assembly that framed the Constitution
of India?

10 b) 12

15 d) 14

YRdg dfyE & ol § @ e agwe A
Hifers wdodl | Wafi grau™ §2

Which of the following Articles of the Indian
Constitution  contains  provisions regarding
fundamental duties?

3G 31 AArticle 31 A b) 3¢ 61 Article 61
3G 55 Article 55 d) 3G 51 A Article 51 A

g HHE BT oIS W e P S GRTE I AT
ST 16T B, df IW TG § ¥ gt Aifew
& g

If any of the Members of Parliament want to raise
any matters during the Zero Hour, He or She must
give the notice before in the Parliament.

&g 10 T 10 AM b) g8 9§91 9 AM
g 11 991 11 AM d) Qs 12§ 12 PM

T4t yagiavor 3t Re it o ot e Fifga &:
Power of issuing a writ of Habeas Corpus lies with
SHdH AT Supreme  b) 3= A High Courts
Court

i iR T3 =Umed d) (A) 3R (B) GF Both (A)
District and  Session and (B)

Court

HRd # gou iy siftfeaw fafafea & 9 few ad
uria fear T ur?

In which of the following years was the Dowry
Prohibition Act passed in India?

1967 b) 1961
1952 d) 1959
Ife LIFE B 128 % =T # dYT RUN &I 159 F &7 &

Peds far 9T €, 9 CLOUD i frd UoR Pedas
forar stTeem?

If LIFE is coded as 128 and RUN is coded as 159, than
how will CLOUD be coded as?

220 b) 165
185 d) 275

far 7T fawenl o A 39 A BT 9 Hifoe orad
# et gt 7

Select the set in which the numbers are related in the
some way as the numbers of the following set.
(4,6,9)

812,18 b) 6,5 11

c)

53.

a)

c)

54.

a)

c)

55.

a)

c)

56.

c)

57.

579

Uit & Fufafes IR Tt § 9 3 A ger 9
A § aY1 TP 4 71 g &1 999 S|

Three of the following four letter-clusters are alike in
a certain way and one is different. Pick the odd one
out.

BEHK b) WYAC

JKL d) PRTU

fFafafEa ar ensi & & & fAfia yer S Jw= §
U1 v i 8 1 g w1 99 S|

Three of the following four numbers are alike in a
certain way and one is different. Pick the number
that is different.

189 b) 126

254 d)y 217

o<l Ut 31 G srerT-Sre fRuforai fRErg 1 81 afe 5
Fad 1 8 A Fi- e 9 S Fhi?
Two different positions of the some dice are shown.
Which number will be at the top if 5 is at bottom?

2 2

d) 12, 16,18

5 3 4 1
4 b) 3
2 d) 1
& it snpfa ® fpaA Ayw 82

How many triangles are these in the given figure?

26 b) 30
24 d) 28

1 R Tyl & a1e $© freed fAw mu §1 smuet
fou T HY=T B TG AFAT € WA g 3 Jdga aaf
firg wefta 319 8 ok fise Fvfa @ 3 % fRRw
frepyf & F FA-91, R 10 By @1 aifde Fu
SRIRUT HAl/BIA 8/ |

DPY:

|.mﬁéja?_\rmr%%'|

. 39 TS &1

e

P

. O TS AR B

n. It Tpa AR F

Below are given statements followed by some
conclusions. You have to take the given statements
to be true even if they seem to be at variance with
commonly known facts and then decide which of the
given conclusions logically follow (s) from the given
statements.

Statements:

I. All teachers are schools.

Il. Some teachers are good.

Conclusion
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a)

c)

58.

a)
c)

59.

a)
c)

60.

a)
c)

61.

a)
c)

62.

c)

63.

I. Some goods are teachers.

11. All schools are teachers.

Had TBY | IR b) Had FHY || SFIEROT
PR § Only conclusion | AT Only conclusion Il
follows follows

3T ey SRR FRd d) A ar ey | 7 8 e )
& Both conclusions STFARUT Hdl ® Neither |
follows nor Il follows

& Wit quif B saar | ei-a1 Juf wE e R A
PP U A 7@ W T B QR Bl 82

Select the combination of letters that when
sequentially placed in the gaps of the given letter
series will complete the series.

abc d bc d b _cda

bacde b) cdabe

decdb d) dacab

fFrafafaa geer A F19-3 J=n uy g ) F ”™E
TR 3TTT?

Which number will replace the question mark (?) in
the following series?

7.8.4,10.8, 1096, ?, 17.41824

13.6131 b) 13.2204

14.5152 d) 14.6254

% fAf3d SeuTaT §, MENTION &Y LNEITNO & &0 &
feraT Tt 81 It Heurwr § PATTERN &1 f5d TR
feran smem?

In a certain code, MENTION is written as LNEITNO.
How PATTERN written in that code?

PTAETNR b) OTAETRN
OTAETNR d) APTTREM
I GSAT-g BT 79 Pifere Rrd Y wet 3t

TPR FRRE § o vor Fufafee sen-gm ot
HETE FH IR 7 1

Select the number-pair in which the two numbers are
related in the same way as are the two numbers of
the following number-pair.

729 :23:: ?
343:9 b) 125:6
512 : 11 d) 216:8

A, B, C & U 18249 $UA H 39 UPHR faurfora farar
a1 {5 A &1 g, B & 8™ &1 ghpen aut ¢ & fest
1 A1 1 ¢ 7 v wra S

Divide Rs. 18249 among A, B, Cin such a way that A’s
share is double the share of B and thrice the share of
C. Find the share of C?

3318 b) 4206

1659 d) 4191

fFrafafea aften # 98 1 & Rig fe at fagl
B YR TGaT ST A1fee?

Which two signs should be interchanged in the
following equate to make it correct?

65.

12-8+12x9+3=9
a) + 3R -+ and -
C) + 3R + +and +

b) —3fR +-and +
d) + 3R x + and x

64. &t TR epfa F1 WS gUur yfafda FH-41 gRN, w9

o1 3t arpfar & orft SR T STan 37
Select the correct mirror image of the given figure
when the mirror is placed to the right of the figure.

C 4
*
D ¥
t C 1 )
a) + D b) + a
+ C T )
) 4 a d) 4 D

I XS-FH BT IIT Do ForHH A1 Weg I THR
Wﬁagﬁvwﬁaﬁrﬁaww$aﬂ‘rw
TR g

URpe : gld :: ?
Select the word pair in which the two words are
related in the same way as are the two words in the
following word-

Pascal : Pressure :: ?
a) gTc : Tfdd Watt : Power b) &g ;. &M Radian :
Degree
d) Wﬁ'ﬂm:mwlogram

: Pound

c) a:fngrl:fTrain : Engine

66. 39 fawew &1 g7 Fifvrw Y AW avf Ty & @

TR A Hafid 8 T uoR, garT avf wvg, uga quf

e A Hefia g1

Select the option that is related to the third letter-

cluster in the some way as the second letter-cluster

is related to the first letter cluster.

CEGI : AGEK :: DFHJ:?
a) BDJK

c¢) BHFL

b) CGIK
d) CHFI

67. TS 4T B G HIOTC-

Complete the number series-

11.l 121 142 1t’>2 ?
6. 5. 7. §;-
1 1
9— —
a) 11 b) 83
c) 20 d) 10

68. FufafEd IR ol A A 9 v fAifya veR & 99

& iR U& fira 31 et 2reg o1 9o P

Three of the following four words are alike in a
certain way and one is different. Pick the odd word
out.

a) S{I¥El Othello b) SR fg=e Oliver Twist

Mob. - 7737404085, 8209244090
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c)

69.

a)
c)

70.

a)

71.

a)
c)

72.

c)

{7 &N King Leas d) AHEY Macbeth

fFafafa o=l & aiffe ik syl wu & sgafE
Fiforgl

1- A

2-9&

3- ade!

4- 9§

5- T

Arrange the following words in a logical and
meaningful order.
1- Table

2- Tree

3- Wood

4- Seed

5- Plant
4,5,3,2,1
1,3,2,4,5

b) 4,52 3,1
d) 1,234,5

I A9 Ppfa &1 I9= BIfoe &t g 7T ot & &g
Y AEl HEY DY qRATAT o7

G, I, 3

Select the Venn diagram that best illustrates the
relationship between the following case.

City, State, Country
y QLD

©o0 ) &)

Hrew, Y S Bt T R, ST A w2, “smuat
HTaT a1 W i, s ymere #t fad g § 3
BIA 761 8" | @, ST A {5y yeR awfRia 82
Neelam, who is Deepak’s daughter, says to Deepika,
“your mother Rekha is the younger sister of my
father who is the third child of Ramlal.” How is
Ramlal related to Deepika?

qIal Grandfather b) TUGT Father
I Uncle d) iR 75t fovam o Wb

Can't be determined

I ATHfa BT Ta1 Fifoe o fAufafaa snepfa gaen
# M e
Select the figure that will come next in the following
figure series.

| | A X | ?
- A\

b)
e A\

d)

73.

a)

c)

74.

a)

c)

75.

a)

<)

76.

a)
c)

77.

a)

c)

78.

fafafeT e A s-arai g, us RE ) &
BT UR {TEIT?

Which letter-cluster will replace the question mark
(?) in the following series?

GKI, KOM, 0SsQ, ?

RTV b) TXV

SWU d) SYv

Frafafey IR Sen-gmt § & & e A ror 3
T € 9u1 U fird 81 P g e st

Three of the following four number-pairs are alike in
certain way and one is different. Find the odd one
out.
792 : 364

623 :231

frufafed R wegl # ¥ @9 & i vor & v
§ 991 Tw a1 Pt 21eg e Fiferg|

Three of the following four words are alike in a
certain way and one is different. Find the odd one

b) 631:203
d) 923:816

out.
G Turtle b) PHfca Bitch
THAT Lamb d) Sl Colt

1% : 39 yoR # snust A= R yedtet o
3! P fawey feu o & ITP 91¢ us Uy fear s
& Roras et 31 1T a1 et/ Tad SR BT 99
MY §iaT 3. MUt g e aHtemwur § arafas fregl
1 3=pIH B ST 3R R FHwTedl o g FRA B
HTIISHT §

afg Qa1 31 +, J BT 34 x, THT 34 -, KB 34 =, @t
30K2Q3J6T5=

Directions: In this type you are provided with
substitutes for various mathematical symbols or
numerals, followed by a question involving
calculation of an expression or choosing the correct
/ incorrect equation. You are required to put in the
real signs or numerals in the given equation and then
solve the question.

If Q means to +, J means to x, T means -, K means =,
then30K2Q3J6TS5 =

18 b) 31
28 d) 103
TS A3 o 4O # “FLAME” 9 “69431” & U H

foran oimar 7 SR “MoCT” Pt “3872” & wU H foran
1T 81 39 B YT # “FACT” &1 59 yar ferar
SITET?

In a certain code language “FLAME” is written as
“69431” and “MOCT"” is written as “3872". How is
“FACT” written in that code language?

6472 b) 6147

2467 d) 8743

F, G, P, Q, R 3X s 31&RT ¥ fafgd wop €t vt o5t &) ey
fRuferar g=ifs € 81
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9 3HER BT TG PICA &Y 'G' HeR AN BAP S
faudia woe w ghm

Two different positions of the same dice marked with
the letters F, G, P, Q, Rand S are shown.

Select the letter that will be on the face opposite to
the face having the letter 'G'.

a) R b) F
¢ Q d) s
79. E25¢$5#13 =183 7#21$3 =148 A35$7

a)
c)

80.

a)
c)

81.

a)
c)

82.

a)
c)

83.

#8=7?
If25$5#13=18and 7#21$3 =14, then35 $ 7 #
8=1?

8 b) 11

13 d) 16

gfg A, BHI 9898, C, BB AT, D, CHT AT, E, D
Famar e, 9 A, D A 59 yeR Tafta 32

If A is B's sister, C is B's mother, D is C's father, E is
D's mother, then how is A related to D?

&lal Grandfather b) @Ial Grandmother
Eﬁﬁ Daughter dy =fa Granddaughter
W 7Y 3Ty BT WFYES Sreaa Hifor 3R faw Ty

el 4 @ 39 dEn &1 997 S &t 39 vy e
() P! afrefia a3 ¥ |

Study the given matrix carefully and select the
number from among the given options that can
replace the question mark(?) in it.

13 6 75
15 8 2
18 4 70
76 b) 116
84 d) 9%

3BT A BIEUTE H U aafad @1 3R Tdhd Hd g
PEl, 'SUD] Hi HT 3Halld Y3 D1 Uell A I 1" 3130
B Ut BT BTG aTd AT o T HIY § 2
Pointing to a man in the photograph, Arun said, 'The
wife of the only son of his mother is my mother-in-
law.” How is Arun’s wife related to the person in the
photograph?

Hi Mother b) UclTSlT Niece
dg Daughter in law d) E{}ﬁ Daughter
T gd @1 3R 20 Hiex dsar 3k 18 3R geav

101ﬂaaﬁm%aﬁ?a’|€~3ﬁ?g@m9tﬁaaﬁm%
g;l{sh?wsrﬁaaméeﬁwﬁahnz:ﬁa

? eddH arE 3R 6 MR Psa1 81 3@ a®
o fo=m &t ok I

a)

c)

84.

a)

c)

85.

a)

c)

86.

a)

c)

87.

a)

c)

A mouse runs 20 meter towards East and turns to
right, runs 10 m and turns to right, runs 9 m and
again turns to left, runs 5 m and turns to left, runs 12
m and finally turns to left and runs 6 m. Now which
direction is the mouse facing ?

3 North b) af‘wqrq‘ South-East
Uj East d) Ui West

TR G e fig e €, e @ = it 7 it =
T U § 3R v e g 1 39w e &1 9a9 #ifsie
Y e A i

Four number triads have been given, out of which
three are alike in some manner and one is different.
Select the number triad that is different.

(27, 64, 101) b) (42,79, 126)
(35,72, 109) d) (54,91, 128)

2 o e Uy ¥ $© FYF 3R I Y O ey
fRu M § | sy 3T U Sy & G AT 8 3R UE
foig 3 @ 6 few e st & J i9-31/4 g e
BT BT AlfPS TY A STEV AT 8/ A ¢

HYA - P TS A B

f=pd - 1. o gUu P B

. it geads gdur g1

In the question below are given some statements
followed by some conclusions. You have to take the
given statements to be true and decide which of the
given conclusions logically follows from the given
statements.

Statements - Some books are tables.

Some tables are mirrors.

Conclusions - I. Some mirrors are books.

I1. All books are mirrors.

Fad 16 | TET 81 Only b) Fad Ay 11 T&l g1 Only

conclusion | is correct. conclusion Il is correct.

A frspd WEt §1 Both d) T w198 11w R

conclusions are correct. Neither conclusion | nor
Il'is correct.

W9 Te "= $t 121 ¥ fquie fear srar @, @t
YTTHd 85 3R ATE 23 g1 3| 5 S|S0 1 11
& fawfora farar Siman 8, o Auwa w41 g 82

When a number is divided by 121, the quotient is 85
and the remainder is 23 . When the same number is
divided by 11 then, what is the remainder?

0 b) 1

2 d 4

3 e ®T U9 : 16 § 3R IABT HegWH
THIIGA® 34 B s‘—raﬁm@ﬁ%mmﬁ
T BIRN

The ratio of two number is 9 : 16 and their HCF is 34.
Calculate the LCM of these two numbers.

4856 b) 4896

4500 d) 3969
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88.

a)
c)

89.

a)
c)

90.

a)
c)

91.

a)
c)

92.

a)
c)

93.

TP YIS} 3R TP WehTH o1 avars SRR g1 afg 3
108 feit/der 5t 7fd ¥ wewid f & e # TR
Pl g1 df YOSt Bt dars (Hew 7 ya S|

The length of a train and that of a platform are equal.
If with a speed of 108 km/hr the train crosses the
platform in one minute. Then the length of the train
(in metres) is:

450 b) 2700
900 d) 1800

1.1.1
33910 BT P, QIR RF &g 458 & aurd |

fayfora #31 & ToIg, TAdN A sH 4:5: 8 F AU
o fyufora o faar mar ¥t 39 a1 ® R 3t fraan

TTH gai?

Instead of dividing ¥3,910 among P, Q and R in the
1.1.1

ratio 4 9 8 | by mistake it was divided in the

ratio 4 : 5 : 8. By how much did R gain in this

transaction?

%990 b) 890

3940 d) 3900

IR T4 gd, A 3R B B} 3T BT 3UTd 4 : 5 ATI 3G A
8 ad §Tg, A 3R B FI 3T BT U 11 : 13 THMI
IAD! TAU 3T BT TRTHS fhaT 82

The ratio of the ages of A and B, four years ago, was
4 : 5. Eight years from now the ratio of the ages of A
and B will be 11 : 13. What is the sum of their present
ages?

76 T4 76 years b) 72 qu 72 years
96 I 96 years d) 80 Iu 80 years
TS B 71 3ifpd g 22,400 8, SN T T | 20%

srféma%l gfe puf &Y sifhd e W 10% F e W®
a1 T @, & @y wiRra fra 32

The marked price of a chair is ¥2,400, which is 20%
above the cost price. If the chair is sold at a discount
of 10% on marked price, what is the profit
percentage?

10% b) 8%
9% d) 26.2%
fopht fAfda v RIRT W 5% affe AT R IR 4 quf &

forg wTyRY TS 800 FUA 71 WHE AR W HAA
s 3R TH TS &R TR Tehqfes saTeT T 12
Simple interest on a certain sum of money at the rate
of 5% per annum for 4 years is Rs. 800. What will be
the compound interest on the same sum for the same
period and at the same rate of interest?

850 b) 840
855 d) 862
20 IfRTaY &1 3Hd 9% 60 fhUT 1 T 9T Al

e ® e gt oirar @ 3R 21 saferal o1 sid aor
59 fhUT 81 SITdT 8 | AT ST BT aoI fha=T gRIm?

a)

c)

94.

a)

c)

95.

a)

<)

96.

a)
c)

97.

a)

c)

98.

The average weight of 20 persons is 60 kg. A new
person joins the group and the average weight of 21
persons becomes 59 kg. What will be the weight of
new person?

41 T 41 kg
39 fhiT 39 kg

TP ATGH STt 3T BT 75% oY HIdT & | SIF IHB!
3T | x% Pt IS gt ], @ 98 o =g o 10% &Y
gis Tar 81 afe @t 9ad § 50% &t i gt &, <t
X BT 0 FI1§?

A man spends 75% of his income. When his income
is increased by x%, he increases his expenditure by
10%. If his savings are increased by 50% then the
value of x is:

20 b) 24
25 d) 36

3 aegait &1 faspd gea 800 TU WS § | 9fe U avg
DI 10% BT TR 94T SI1dT 8 3R gl Bt 10% ATH R
AT 7T 8, O A @Y 1 g1 wia=rd fraan 32

The selling price of two articles is Rs. 800 each. If one
article is sold at 10% loss and the other at 10% gain,
what is the overall profit or loss percent?

2% D1 ATH 2% profit b) 1% @1 T 1% loss

T A @Y R TS B d) 1% BT 1% profit
Neither profit nor loss

Tfe U o R X o1 g 3R foved) Sans swsr:
8 MR 10 AW. 3, N P &1 AT (@FUIANT
n=22/7) 8: (G SHAT R B! TGl FY)

If the height and slant height of a right circular cone
are 8 cm and 10 cm, respectively, then the volume of
the cone is (use n=22/7): (correct the two decimal

b) 29 &1 29 kg
d) 40 f&31 40 kg

places)
200 cm? b) 301.71 cm?
258 cm? d) 299.45 cm?

P 3R Q fira®~ ts &1 @1 20 31 & [T % W &1
Tfe P 3T T Hi 25 1 ¥ R HR Tbar g, ot
P 3pal I F FI foram 1 o 1 X wwar 82

P and Q together can complete a work in 20 days. If
Q alone can complete the work in 25 days, then in
how many days P alone can complete the same
work?

25 &1 25 days
20 &1 20 days

1R fear a1 IR AP IR HHRTE auf § Th 95 Ut
BRI UG 3R TR & IUTe & 3PS ST 8l

b) 100 f&T 100 days
d) 503 50 days
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C g o & @Tm#

* ® £ a1 32

E o 23 23 \ \ 23
o) N 18
N \

19 1999 00 2001

|
1998 ¥ IcIfed U@l HI HEM 3R 2001 # IaTied
PRI DI TG BT SUTd 1 BIfoT |
The following bar graph gives figures for the
production of fans and of coolers by a large company
in four consecutive years.

[ Fan {In lakhs) Cooler (In lakhs)

23 23

§
N

1998

Boam N oW ows

Production (in lakh)
o v o o N o

Year
Calculate the ratio of the number of fans produced in
1998 to the number of coolers produced in 2001.

a) 23:18 b) 32:18
c) 23:21 d) 18:23

99. 10 U39 TP S I 15 &I & QI A €1 7 T30 3R
3 AigaAnd It w1 B 20 fa1 A Hd & | v Afgar gy
S4B B | forg Y =1 oY Sem 72
10 men do a work in 15 days. 7 men and 3 women do
the same work in 20 days. The number of days taken
by a woman to do the work is

a) 300 b) 600
c) 900 d) 150

100. U gUTPR UIP & IRI 3R g uy fawfra fear

81 7Y B AR 3% a1e uRf Hwen: 330 Hiew iR
352 iR g1 9 gy Ft Ahers (Hiex #) A FIveI@ =
22/7 ST YN HIOQ)
A pedestrian path has been developed around a
circular park. Inner and outer circumferences of the
path are 330 m and 352 m respectively. Find the
width of the path (in m).(Use it = 22/7)

a) 33 b) 3.25

c) 35 d) 36
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